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(- —“EH 49 43 92 26.4 65.6 N1
s b #E= 44 40 84 16.8 67.2 N1
3L N 47 47 94 26.4 67.6 N1
4 1 3N 48 39 87 19.2 67.8 N1
5L /N ] 43 40 83 14.4 68.6 N1
6 fir g 5 42 39 81 12.0 69.0
7L WA BEIA 43 48 91 21.6 69.4 N1
8 fi. BaH: s 48 43 91 21.6 69.4
9 fir Ktz E5 47 42 89 19.2 69.8
10 £z AIPN ] 53 46 99 28.8 70.2 ANE
11 {7 KK AG— 39 39 78 72 70.8
12 fir A 2] 46 44 90 192 70.8
13 iz HHE % 53 47 100 28.8 712
14 7 R 2 52 39 91 192 71.8
15 iz /INPR TECRS 47 44 91 19.2 718
16 fiz HiRE 5 46 38 84 12.0 72.0
17 iz LLTH 1SS 58 50 108 36.0 72.0 I
18 fiz AL BEIR 53 56 109 36.0 73.0
19 iz me BT 54 53 107 33.6 734 R REE IS
20 7 A% WH 51 42 93 19.2 73.8 TRE
21 R Bl 49 44 93 19.2 73.8
22 fir FHIR 5 48 45 93 192 73.8
23 fir il Rz 48 50 98 24.0 74.0
24 fif TH 25 46 45 91 16.8 742
25 fir Tkt 47 44 91 16.8 742
26 7 A FE 44 40 84 9.6 744
27 AE Bl 40 37 77 24 74.6
28 fir IS 62 51 113 38.4 74.6 3407
29 fir NS 44 43 87 12.0 75.0
30 fir R FEHET 44 48 92 16.8 75.2 TRE
31 iz L] 51 46 97 21.6 754
32 iz N =i 49 41 90 144 75.6
33 fif Ly A 47 48 95 19.2 75.8
34 fif IS 59 48 107 31.2 758
35 fir BN B L 53 54 107 31.2 75.8
36 iz FLEE 11 53 52 105 28.8 76.2
37 fir FKE Bk 50 48 98 21.6 76.4
38 fif HRE I 45 46 91 144 76.6
39 fi &4 Ak 45 39 84 72 76.8
40 7 T H F 55 41 96 19.2 76.8 TRE
41 fir BEH: T 55 41 96 19.2 76.8
42 fir HA S Adt 52 49 101 24.0 77.0
43 fir [l i 252 52 49 101 24.0 77.0
44 fir K BT 42 40 82 4.8 772
45 iz /N AT 51 43 94 16.8 77.2
46 1 JINF 25 51 43 94 16.8 772
47 A FE = 47 40 87 9.6 77 4
48 iz i —H 49 50 99 21.6 77 .4
49 fir G 3K 51 48 99 21.6 77 4
50 iz AN /A 41 39 80 24 77.6 TRE
51 iz feke WY 44 41 85 72 77.8
52 fir S8 B9 49 48 97 192 778
53 fiL NI BEE 52 38 90 12.0 78.0
54 iz I Lz 54 48 102 24.0 78.0
55 fr T b 55 47 102 24.0 78.0
56 fir ffe % R NG 55 47 102 24.0 78.0
57 iz Bk B= 48 47 95 16.8 78.2
58 fir LR 7K 51 44 95 16.8 78.2
59 iz = &4 50 45 95 16.8 78.2
60 fif AT 7 H 54 44 98 192 78.8 RE
61 iz fhee AR 58 52 110 312 78.8
62 fir 2 R 57 46 103 24.0 79.0
63 fir IR = I 57 46 103 24.0 79.0
64 fif T 7K [l 45 44 89 9.6 79 .4
65 fir Al vz 51 50 101 21.6 79 .4
66 fir e BT 53 48 101 21.6 794
67 fiL HRy sE 5 45 37 82 24 79.6
68 fiL i RIS 44 50 94 144 79.6
69 fir <f k5 22 56 50 106 26.4 79.6
70 7 ELREES 49 50 99 192 79.8 TRE
71 6% ML J6Y) 51 41 92 12.0 80.0
72 L I B 56 48 104 24.0 80.0
73 i1 hngE Bt 49 48 97 16.8 80.2
74 1 L 5A 57 52 109 28.8 80.2
75 ® FZ 46 44 90 9.6 80.4
76 11 Brfp 3 — 53 49 102 21.6 80.4
77 L g R 50 52 102 21.6 80.4
78 1 fifils 752 50 45 95 144 80.6
79 fr =L 58 42 100 192 80.8
80 iz LT AT 51 49 100 192 80.8 RE
81 iz NH &) 52 48 100 192 80.8
82 iz Ly B — 47 46 93 12.0 81.0
83 iz ELGH G A RR 45 48 93 12.0 81.0
84 iz Lk T 53 45 98 16.8 81.2
85 iz HIH v e 53 45 98 16.8 81.2
86 iz N 7 54 49 103 21.6 814
87 iz By 11 g 51 45 96 144 81.6
88 fir AR Pk 45 44 89 72 81.8
89 iz Eifg At 42 47 89 72 81.8
90 iz SHJ 52 49 101 19.2 81.8 RE
91 fiz WNH St 51 50 101 192 81.8
92 fir LH 44— 57 49 106 24.0 82.0
93 fir L H— 49 50 99 16.8 82.2
94 fi. R 228 61 50 111 28.8 82.2
95 fiz R i 58 46 104 21.6 82.4
96 fi. A H: i+ 50 47 97 144 82.6
97 fiz ETTZNESPS 59 50 109 26.4 82.6
98 fif i GE 47 48 95 12.0 83.0
99 fiz AR IAAT 45 50 95 12.0 83.0
100 £z B —k 50 43 93 9.6 83.4 RE
101 fiz L1 7 53 52 105 21.6 83.4
102 fiz FEAR 1Ez 59 56 115 31.2 83.8
103 {7 =HE 53 48 101 16.8 84.2
104 fiz SH BT 57 54 111 26.4 84.6
105 iz P B 52 50 102 16.8 85.2
106 fiz M FIA 50 52 102 16.8 85.2
107 {2 TR 59 55 114 28.8 85.2
108 i e BT 49 46 95 9.6 85.4
109 i TN =& 56 51 107 21.6 85.4
110 fi% AR = 60 59 119 33.6 85.4 =1
111 £z =t 54 58 112 26.4 85.6
112 £z AR EA 67 55 122 36.0 86.0
113 £z T-H 675 52 44 96 9.6 86.4
114 {7 G = 52 49 101 14.4 86.6
115 £z N IR 61 52 113 26.4 86.6
116 f7 KK H 59 54 113 26.4 86.6
117 {2 IR £ 52 54 106 192 86.8
118 7 APRH IR 59 53 112 24.0 88.0
119 £z ARH HG 55 53 108 192 88.8
120 7 LLIFH S 49 50 99 9.6 89.4 =1
121 7 el 60 49 109 192 89.8
122 7 IR FEIA 66 51 117 26.4 90.6 BBEH

123 % AR/ 80 83 163 36.4 126.6




